——
N = 0 & AF & Y A
20218 = 20l A LB H ZEETAIAIEEE S22 ~ ZTETAANGEESE A2
2N EESAANYEE ZRLD
Ha: zane
G2l TAIZ2S 22 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ZECAANGEE 22221 11,847,904 11,369,264 478,640
=2 57,362
= 95,207
Al 11,695,335
=22 22 10,567,955 10,138,779 429,176
= 57,362
o= 95,207
Al 10,415,386
TAZ2E 22 6,767,982 6,882,856 N 114,874
2el=23 22 3,250,018 3,180,995 69,023
101 21 214| 106,280 139,410 A 33,130
04 JIZtHIZ22XNSES 106,280 139,410 A 33,130
O AIZE JIEH 2d(222|€) 106,280
OelAdl 75,9502 * 6Y x 262 * 82 94,786
od4Eg = 10,294
-HABE= 94,786,000 * 3.335% 3,162
“AJQUAEES 3,162,000& = 10.25% 325
-20AZIEE= 94,786,000 * 4.5% 4,266
-NE28s = 94,786,000 * 1.65% 1,564
-AMIEE 2 94,786,000 * 1.03% 977
OY &SI 200,000 * 6H 1,200
201 et 41,913 42,661 ANT48
01 AP 2t 2] H| 35,613 34,629 984
0O=2¢ 212842 2= 5,225
OZ24AH]| 600,000& * 1CH » 5 * 95% 2,850
ogoxt 500,000& = 1CH = 52 * 95% 2,375
02 HATA FIEX B U +48
13,2008 * 550& * 95% 6,897
OZ22 U 2R S 2 MEB(AH)
11,0002 * 534 * 71044 * 95% 3,710
022 W NS S S M= (HH)
11,000& * 500 = 46042 * 95% 2,404
022 W NS S S ME (M)
11,000& * 500 = 69 A * 95% 3,606
022 W NS S S M (S
11,0003 * 500 = 89 A * 95% 4,651
oOXg dX= 800,000& = 1CH = 12€& * 95% 9,120
02 Z2=2=2494| 6,300 8,032 N1,732
o33 & &dl ¥ A4 RANE=H|
6,000,000& 6,000
OUERYELIZI(ZL22Z2H) 300,000& 300
203 ¥ R =&t 6,000 6,000 0
03 Al ZH =& 2 F X H| 6,000 6,000 0




EA: ZEEZANAGER SR 22N
Ha: zane
el SASE 2el (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Oser & oI A FX 6,000,000& 6,000
206 M= Hl 132,120 141,210 29,090
01 MHZ 8l 132,120 141,210 29,090
OZ&d & ot HLES 88,770
Ost& X 33,000& » 750 A 24,750
oM IIs8E(75L) 1,330& = 10,000& 13,300
oM IIEE(50L) 890& = 20,000& 17,800
OJted & H DI S0k (100L)
4,000 » 2,550%& 10,200
OEA S HII S0 (40L) 1,6008 = 1,700& 2,720
O =10t (100L) 2,000& = 10,000& 20,000
O32ANE H2EB(4Y)
200,000& = 168 * 33l 9,600
O3 AL 2H2EB(FH)
200,000& = 168 * 33l 9,600
O32ANE 2H2ES (M)
200,000& = 168 * 33l 9,600
OZRANE B2ABE(EH)
200,000& * 168 = 33| 9,600
oOdgdis LM A 33,000& * 1504 4,950
5 a2 S 4,000 4,000 0
01 HH&a=s 4,000 4,000 0
OZ2& W IoieEs 100,000& * 40A 4,000
307 2Iztol ™ 1,457,300 1,558,100 A100,800
05 BIZHRIE 3 1,457,300 1,558,100 A 100,800
OZH L HFA HADZSA(4Y)
4,300,000& = 14" » 73 421,400
OZH L HFA HAZSA(HA)
4,300,000& = 5% » 73 150,500
OZH L HFA HAZBA (M)
4,300,000& = 12¥ » 73 361,200
OZH L HFA HADZBA(EY)
4,300,000& = 17H » 73 511,700
OXpYs StEA H2EA(ZEIA)
8,000,000& * 1JH 4 8,000
OXIYE SIFA 228A(FU2AUZ)
4,500,000 = 10H 4 4,500
401 AIEHIZ 28I 1,502,405 1,264,614 237,791
01 A& Bl 1,496,105 1,256,375 239,730
O3%2 AN&E2 A2 (A4) 45,000,000& 45,000
O3% AN&d2 A2 (HH) 40,000,000& 40,000
O3%2 AN&E2 RAE2(HA) 45,000,000& 45,000
O=d AN&E2 |X22(EH) 50,000,000& 50,000
O2e=d =AY (A1) 63,060
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L= B

el

H1 ok HH
> o iy

0H 2 1
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>
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I
Hr
3]
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o

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ol M= 1,400 = 9,1356m * 13| 12,789
OJIH M= 4003 = 47,407m = 13| 18,963
O&E=9HH 550& = 17,500m" = 13| 9,625
(OFEE=FSES! 2,300 = 9,427m" = 13| 21,683

O2elsd =Xl (AE2) 47,511
O &M= 1,400& = 7,411m * 13] 10,376
OJIH M= 4003 = 52,395m x 13| 20,958
O&E=AHM A 550& = 9,250m" = 13l 5,088
os=dE 2,300 = 4,821m = 13| 11,089

O2e=zd =XZAeIMS () 83,004
O &M= 1,400& = 11,726m * 13| 16,417
OJIHM = 4003 * 62,588m x 13| 25,036
O& = RHA 550& = 27,660m x 13| 15,213
on=sdE 2,300& = 11,451m * 13| 26,338

O2ESH =RlAL(HET) 51,030
O &M= 1,400& = 5,010m « 13 7,014
OJIHHM = 4003 * 59,894m" = 13| 23,958
O =2HMA 550& = 20,118m = 13| 11,065
oza=2dF 2,300 = 3,910m * 13 8,993

OIS =X2lAL(HE2) 50,084
OeaE M= 1,400 = 6,680m * 13| 9,352
OJIH M= 4003 = 46,920m = 13| 18,768
O =AM 550& = 31,780m x 13| 17,479
os=dE 2,300& = 1,950m" = 13| 4,485

O2elsd =AML (ELT) 95,223
O &= 1,400& = 5,137m * 13] 7,192
OJIAH M= 400 = 75,586m x 13| 30,235
O =dHH 550& * 72,153m" = 13| 39,685
os=dE 2,300 = 7,874m = 13| 18,111

O2EZSH =X2AelML(EL2) 82,795
O &M= 1,400 = 9,456m * 13| 13,239
OJIH M = 4003 * 110,443m = 13| 44,178
O =2dHMA 550& = 19,054m" = 13| 10,480
on=dE 2,300& * 6,477m = 13| 14,898

O3d <&+=2 Iyl (&g, )

30,000, 000& 30,000

O3d &+= FU(HE, &4)

30,000, 000& 30,000

O3 dsHIIES MaEd (A4, FH)

95,0002 *» 50& 4,750

O3 dsHIIS MAEA(MA, £9)

95,0002 *» 50& 4,750




EA: ZEEZANAGER SR 22N
Ha: zane
el SAISE 2tel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OYMZH AES EXAY
20,000,000& * 1JH 2 20,000
OOIZ U0 AISY &2 FHISA
30,000,000& * 1JHA 30,000
OLOIZUI0 AISH S 3L =3 EASM
400,000& = 25= 10,000
OE=s2E3& i=AlE ZHIZSA
15,000,000& * 1JH 2 15,000
OSEH=2E3E & LAMuZHIRE =3 FHIA
e 157,665
O3 Atdl 75,000,000 * 200 A 150,000
(OFSPNR=; =] 150,000,000& * 5.11% 7,665
OLURATRBY SSAEE L +2 UM
A 84,872
O3 Atdl 80,000,000 = 1JH A 80,000
O4A Al £ Al 80,000,000& * 6.09% 4,872
OsE2E3d FHAY 349,941
O3 AtH| 335,000,000& * 10H 24 335,000
O& A& AHI 335,000,000& * 4.46% 14,941
OIS StEA N ALY 53,210
O3 AdI 50,000,000& * 1JH A 50,000
O& A& 50,000,000& * 6.42% 3,210
OF=2el3d SEFA MAAS 53,210
O3 Atdl 50,000,000 = 10024 50,000
O4A A& Al 50,000,000& * 6.42% 3,210
03 Al 2 THHI 6,300 8,239 A 1,939
o228 23 &c2lAY  1,000,000,000& * 0.63% 6,300
HelolE2&d &2 639,888 1,003,695 A 363,807
201 LBt2E| 108,416 163,520 A 45,104
01 At 2t 2l 22,496 30,400 AT,904
OOBIOISO0IAE FIIALRA +4E (M)
320,000& = 12JH 4 = 95% 3,648
OUEO0Is0lAIEd HIIANEZA =+2(FH)
320,000& = 19004 = 95% 5,776
OUE0Is0lAlId HIIANLEZA =2(HE)
320,000 * 9HA = 95% 2,736
OUEO0ISO0lAIE HIIANLEZA =+2(EY)
320,000& = 344 = 95% 10,336
02 =224l 85,920 123,120 A 37,200
OUE0Is0lAld HEEH(&Y)
40,000 * 24002 = 128 11,520
OUEO0Is0lAld AEEA(HR)
40,0003 = 33002 + 128 15,840
ONEO0Is0lAld AEEA (M)
40,0003 = 48002 = 128 23,040




EN: ZEETAANGEE 222
M ZR 2
el TABR el (S &2)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ONE0I=0lAld HEFEA(EH)
40,000 « 7400 A ~ 12€ 35,520
307 2iz2to| & 10,883 5,361 5,522
05 QIZ2tREF 2 10,883 5,361 5,522
O0E0I2 X200 (HH)
453,440& * 200 A +~ 128 10,883
401 AlEHIZL 201 Y| 520,589 844,814 N 324,225
01 Al&H| 517,329 839,524 N 322,195
ONHE0Z2) SX2SIAY (&) 20,510
Ol =" H = 1,400& * 3,350m * 13| 4,690
OJIHH = 400 = 20,287m * 13| 8,115
(@FER=—=FSES] 2,300 * 3,350m x 13 7,705
O0E022 =SXHCIAISE (HLA) 23,567
Ol = 1,400 = 3,031m" = 13| 4,244
OJIHH = 400 * 23,556m * 13| 9,423
OASEAH 2,3008 * 4,304m x 13| 9,900
O0E02Y =SXZCIAISE (ML) 24,875
Ol&E = 1,400 = 3,540m = 13| 4,956
OJIHH = 400 * 24.841m * 13| 9,937
(OFEE=—=PSPS] 2,300& * 4,340m" * 13| 9,982
O0NE02Y =sX2ASHE(ELY) 44 612
Ol &EH = 1,400 = 7, 116m = 13| 9,963
OJIAH M = 400€ = 50,716m x 13| 20,287
(OFE=PSPS] 2,3008 * 6,244 = 13| 14,362
O0EI0IZ2Y A28 S22 (ad)
30,000,000 30,000
O0E0IZ2Y AlIEES S22 (HHY)
37,500,000 37,500
OOE0IZ2L AlIEdES S22 (AH)
48,000,000 48,000
O0E0IZ2Y A2 SX22(EY)
69,000,000 69,000
O0glolsd 2dEcd (&Y, 3d)
4,300€ * 3,533m x 33| 45 576
O 022 PHE2IY (M)
4,300€ * 2,916m * 33| 37,617
Oe 022 2EY(sY)
4,300& * 5,897m = 33| 76,072
OZ2ZE0 202 2d e WHZA
20,000,000 * 1= 20,000
OO0l 2d S Z A WH 2 A
40,000,000 * 1JH A 40,000
03 AlE 201 Y| 3,260 5,290 A 2,030
Oeol=2g 2el 517,329,000 * 0.63% 3,260




N ZEZAMAIEEZR S22
Ha: zane
el SAISE 2tel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
L33 22 91,718 148,326 A 56,608
401 Al HI K 201 I 91,718 148,326 A 56,608
01 A& Bl 90,899 147,265 A 56,366
A2 =AM (4E) 29,800
O &= 1,400& = 2,500m * 33 10,500
OJIH M= 400 * 6,500m * 33 7,800
oza=2dF 2,300 = 2,500m * 23 11,500
OLZE =XZelAE(HE) 7,642
OelaE M= 1,400& = 356m * 33| 1,496
OJIH M= 400 * 3,205m = 33 3,846
on=sdE 2,300& = 500m x 23| 2,300
OL32 =sXA2AD(MA, £Y) 28,457
O & M= 1,400& = 2,200m * 33| 9,240
OJIHHM = 400& * 9,661m = 33 11,594
on=dg 2,300 = 1,657m x 23| 7,623
OL3¢ ANEsE A2 (&Y, HA)
20,000,000& 20,000
OL32 ANEsE A (ME, EY)
5,000,000& 5,000
03 A& SR THHI 819 1,061 AN 242
OAZ& &2 90,899,000& * 0.90% 819
UM 2el 919,027 747,540 171,487
201 Let24d] 167,089 159,739 7,350
01 At 22l 54,070 46,000 8,070
ORJMEZSR 2elARa 29 1,482
O2CMEE MEES
50,000& = 12& = 95% 570
OFJZZ 1=l
120,000& = 49 = 23| = 95% 912
Ox=ZAE =ZZA =8
20,0003 = 104 * 23] = 5& » 95% 190
ouLH AHMEE(108)
50,000& = 12& » 95% 570
022 HINE FHIL 242 2,970
Oo=8g 70,000 * 5J4 * 95% 333
Oos= 15,000& = 185JH A » 95% 2,637
OdJ|ctE e B2
220,000& = 128 = 95% 2,508
O g Al 40,080
OL=A(1~38, 11~128)
60,0003 = 2H « 48¢ 5,760
OL=(4~108) 60,000& = 3% = 69 12,420
o=z 60,0003 = 1H » 365¢ 21,900




N ZEZAMAIEEZR S22
Ha: zane
el SAISE 2tel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZ2% W sXdA s A= HA
33,000& = 20000 = 95% 6,270
02 =224l 113,019 113,739 AT20
oskes 150,000& * 123 1,800
O&F=J 2z 30,000& = 1CH » 12& 360
OHEIIRS 106& = 32,000kWh » 1HA » 128 40,704
oot=ER=
3,000& * 950& = 1A = 128 34,200
0348 AEIZH(120L) 7,2008 * 35% « 128 3,024
OWEZE ZHOIXN ¥ ZHMALAHE FXE=H| 12,600
OZHOoIX E ZHAAE RAL+
800,000& « 12& 9,600
OZHMALAE =2 250,000& = 12& 3,000
oszg29 S5
1,377& = 2L = 200 » 60 331
OZ& AN&ZEH ®|X 20,000,000& 20,000
206 M= Hl 15,590 14,140 1,450
01 =8l 15,590 14,140 1,450
OZ3EFA~ ¥ s&E4A 2g] 12,590
Ost&EX 33,0003 » 200 A 6,600
OoMgIl S5(75L) 1,330& » 3,000& 3,990
OS2 ANE 22ES
100,000& » 108 * 23 2,000
O3d HI| & +ZBANE 22F (¥ WES 2
0&) 100,000& * 304 3,000
307 21201 A 238,400 262,800 A 24,400
05 212t E = 238,400 262,800 A 24,400
O33 % St&A HAZCSEL (2L MHSE)
4,300,000& = 498 « 128 206,400
Ox=d A& 2eEH 32,000
OFYUHSE US=EZ, HE2 2l
32,000,000& 32,000
401 AIEHI L 2CHEI 497,948 294,861 203,087
01 A& Hl 494,407 292,753 201,654
OZ3ANEE FA2e 60,000,000& 60,000
OZ& HIIANE RAE= 20,000,000& 20,000
OFLMEHEE sA2elAtY 93,332
O M= 1,400& « 7,000m * 13| 9,800
OJIH M= 4003 * 92,948m" = 13| 37,180
O M &£ 550@ = 63,366m * 13| 34,852
os=dE 2,300& = 5,000m = 13| 11,500
O2AMEHSE et EHAAINNEE X4 261,075
O3 AtHI 250,000,000& * 1JH A 250,000




N ZEZAMAIEEZR S22
Ha: zane
el SAISE 2tel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O& A& 250,000,000 * 4.43% 11,075
OSAMEZE H42 ELTA
20,000,000 = 10024 20,000
OFLHMEHZSE HEZE O3 HUIZA
6,250,000 » 4™ 25,000
OQZBZZ Y3 A 15,000, 000& 15,000
03 AlE 2 THHI 3,541 2,108 1,433
OFLMEHSH 2tel 491,708,000& * 0.72% 3,541
Olch XIEHIOIS & 2l 331,704 333,325 A1, 621
101 124 dl 82,031 80,616 1,415
04 D12t Z2XEE+ 82,031 80,616 1,415
oxdyz &cH 82,031
OJles 69,7603 * 4Y x 26 » 10& 72,551
C42E= 7,880
-HAEERE 72,551,000& * 3.335% 2,420
-“AJedEE e 2,420,000& * 10.25% 249
Az EEE 72,551,000& = 4.5% 3,265
=g 72,551,000& * 1.65% 1,198
-MHEEE 72,551,000& * 1.03% 748
OZFEFItHI 200,000& = 49Y « 23] 1,600
201 LBt 115,411 117,722 AN2,311
01 At 22l 9,211 9,098 113
OZAUSEA HZ HANH 248
400,000 * 3 * 23] * 95% 2,280
oOHIET ANFES 50,0003 = 12& = 95% 570
OWLE HEESE(FSY S 108)
450,000 = 95% 428
OFEJIGHBENY 248
300,000& = 12& = 95% 3,420
OHEIIHE B A =2 750,000& = 13| = 95% 713
O gl 1,800
O=3 60,0003 = 1H » 30 1,800
02 3322l 106,200 108,624 N2,424
(©OFSPIETE=, 50,880
OHEAIA 106& = 25,000kwh * 123 31,800
oxgd 106& = 15,000kwh * 128 19,080
O&ol+=E 23 3,000& = 750 ~ 123 27,000
osHes 100,000& * 12& 1,200
odz=J SXc 40,0003 * 100 » 12& 480
oWHZE SASMY Il HMeldl
120,000& » 12&8 1,440
OZ& A&ZEH |X 12,000, 000& 12,000
OTBLEEY SHOK & ZHAAY RAES 13,200




SN BECAAYESR SR
a: zEBe
Sl SAIZR 2l EERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
OSHON % ZHNAXE RN+
800,008 * 12 9,600
OZMAAEY +48 300,008 * 122 3,600
206 TH 2 bl 15,260 13,475 1,785
NRET 15,260 13,475 1,785
3 U I H2SE 15,260
O3t =X 33,0009 * 1808 A 5,940
O 2|02 & (75L) 1,3308 * 2,0007H 2,660
OXa|7] 2 € (50L) 8902 * 4,0000H 3,560
ORIINE £28 200,000% * 834 1,600
OZRAE H2ABE 250,008 + 65 * 13] 1,500
307 £12+0| & 51,600 55,200 A3,600
05 8129 er3 51,600 55,200 3,600
OT¥ L SHIA HAR2S(0IHXEOZR
) 4,300,008 * 1% * 122 51,600
401 NEHIL 2 THYI 67,402 66,312 1,090
01 Al 66,800 65,720 1,080
ODHNEHOIBE =X22AY 26,800
SLEbES 1,4008 * 4,000m * 13| 5,600
OJ1H M = 4008 * 30,000 * 13l 2,000
oBSHE 2,3008 + 4,000m * 13| 9,200
022 A&2 RX2L 30,000, 0009 30,000
02 HINE R4 10,000, 0002 10,000
03 A& S THHI 602 592 10
ODIHXEIOIZY 22l 66,800,0008 = 0.9% 602
FNEMETE 2ol 182,332 151,376 30,956
101 9124 bl 47,357 42,473 4,884
VRN EESETPS 47,357 42,473 4,884
OMEI2EE 2olY 2Y 46,557
OIEE 69,7602 * 22 * 262 * 112 39,903
Ofgae oAy
69,7602 * 150% * 28 * 102 2,003
O4E = 4,561
RiYRE2 41,996,000 * 3.335% 1,401
-EIIQYBHE2 1,401,002 * 10.25% 144
-0z RE2 41,996,008 * 4.5% 1,890
-ngRER 41,996,002 * 1.65% 693
SR E 41,996,002 * 1.03% 433
CEEESIT] 200,0008 * 2% * 23| 800
201 YEr2 | 82,459 55,269 27,190
01 AFR 22| t] 32,891 12,101 20,790
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el
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
OSRUMINBHIANAY RAEZ 3,000
OSHUI MEl 23t2t 130,000& * 12& 1,560
OWBOIMEN =23t 2t 120,000& * 12& 1,440
OSMHHIMEfE a2t =21 EI|1& Akl
130,000& * 1J0HA 130
OMEES 28 5,000& * 305 128 * 95% 1,710
OAVESE FLU (2L S 108)
750,000& = 95% 713
OF=J gz
70,0003 * 20HA 128 * 95% 1,596
O=AI Xtz 400,000& = 128 = 95% 4,560
OEZZOH AAME 120,000& » 123 » 11& 15,840
Od=Z 2UHEEZ 470,000& = 43| 1,880
otz #*=s= 15,000& = 200 * 128 * 95% 342
OFNHHIdE 232t 2|
60,000& = 1% = 52¢ 3,120
232l 44,568 43,168 1,400
OSNMHlMEHZat2 =20 RAE=>
250,000& = 12& 3,000
oOXIIRS 106& = 24,000kwh * 123 30,528
OHNdtl=ER3 3,000 * 2408 = 128 8,640
osHe=s 100,000 = 294 = 12 2,400
HALZ S HI 5,000 0 5,000
O2ANFZ AN2UZLIHEYH 29 5,000,000& 5,000
M=l 10,916 4,715 6,201
M= dl 10,916 4,715 6,201
CusZzZ2]d Mz+< 300,000& = 103 3,000
S¥ % 3EA 2AeES 7,916
O=t&EX 33,0003 » 502 A 1,650
oMY IS8 E(75L) 1,330& » 700& 931
oMy IS = (50L) 890&  1,500& 1,335
OZE(2aa) Al 228
100,000& * 10& * 4% 4,000
AUENF 9,600 0 9,600
JIEtE A3 9,600 0 9,600
OZNFHEHZS 2 SALA B& =
10,000 = 4% = 2402 9,600
1 Al HI YL = Tl 30,000 30,324 A 324
IRAE=1:] 30,000 30,000 0
OYNFHEHSID P4 U 2T B22A
20,000,000& 20,000
OLMNZHMEIR AE28 SA22
10,000, 000& 10,000




N ZEZAMAIEEZR S22
Ha: zane
el TABR el (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
405 XHoHF S HI 2,000 0 2,000
01 AL ESFH S 2,000 0 2,000
OARE X #¢ 300,000& * 504 1,500
OCIXIEJtnlct 500,000& = 1CH 500
&I & =FAE 2 1,260,823 1,226,296 34,527
201 Let249] 635,871 630,510 5,361
01 At 2teltl 69,267 66,834 2,433
O3d HIANLE HMAE 22 (AT) 16,478
ozdg 70,000 * 68 * 95% 4,522
O33s=F 15,0003 = 83901 = 95% 11,956
O3% HIANE MG =2 (HP) 11,719
(OF=FSk=1y 70,0003 = 5300 = 95% 3,525
OZBds=+ 15,000& = 57501 = 95% 8,194
O3& HIANA ML 22(ME>) 15,856
ozdg 70,0003 = 8200 = 95% 5,453
OZ&s=F 15,000& = 73000 * 95% 10,403
OZ¥ HMIIAHE ML =22(5Y) 21,148
(O =FSk=1y 70,000 * 990 = 95% 6,584
O33s=F 15,000& = 1,02200 * 95% 14,564
O+FANE +TAN 222(4Y BR)
20,000& » 62 * 23] = 53 * 95% 1,140
O+FANE +TAN 222 (MR, EG)
20,000& = 702 * 23] = 53 * 95% 1,330
oxI|ctE e e+ 2(EYH) 1,596
O2d3& U38=XL
140,000& = 128 = 95% 1,596
02 2324gHl 566,604 563,676 2,928
OXIIRS 97,500& = 3024 « 123 353,340
OZHS RHFLI| S423
4,000 = 21900 = 123 10,512
ONst+ER3
3,000& = 55& = 80 A = 128 158,400
OZ& St&A H&d SRS
66,0003 * 5602 = 128 44,352
206 M= Hl 30,000 26,000 4,000
01 M= 4l 30,000 26,000 4,000
O3& A =EANE 22 (4E,F3H) 13,000
(OF= =1 I S 208
200,000& * 654 13,000
oz&d & +=dANE 22E(MA,EY) 17,000
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SN RECAAYEE TEBED
Bu: ez
el TABR el (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O Xt S XA 378
-3t2 Xt 27,000 * 1404 378
OXNSsSX EAM= 784
-SISXH(SEH A 56,000 = 14CH 784
OxXgdedl (=8 & S:]4l) 60,500
-3t 2 Xt 4,300,000& * 14CH 60,200
-gtHID] & 150,000& * 2CH 300
ZETAAY EREFX 13,750 13,750 0
201 Bt A H| 4,750 4,750 0
01 AFR2 2t 2l Yl 4,750 4,750 0
OAERUZ Koyl 5,000,000& * 95% 4,750
203 R =&Y| 9,000 9,000 0
03 Al =X H R =X Y| 9,000 9,000 0
OBAMLZM A2 FF  9,000,0002 9,000
=Xl 2t 2,349,814 1,755,229 594,585
= 10,562
& 3,169
Al 2,336,083
S AlsXI2el & (X)) 14,078 13,831 247
101 @1 21| 14,078 13,831 247
04 JI2ZtH2Z2XNEE S 14,078 13,831 247
OZANSsXZ2E(H=2) 12,697
oJlez 69,7603 * 1 x 26 * 7& 12,697
O4th MBIBE (H=L2R) 1,381
O=01H= 12,697,000& * 4.5% 572
O=30AHLEE 12,697,000& * 3.335% 424
O&IYEE 424,000& * 10.25% 44
(@ME=1=0--! 12,697,000& * 1.65% 210
OS2 E 12,697,000& * 1.03% 131
TAEX22R(EX) 21,125 20,831 294
= 10,562
& 3,169
Al 7,394
101 @121 21,125 20,831 294
= 10,562
& 3,169
Al 7,394
04 JI2ZtH22XNHEE =+ 21,125 20,831 294
OEA=sX22E(EX) 21,125
oJN=3 2,112,500& ~ 14 102 21,125
= 10,562
& 3,169
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| Al 7,394
SAN= el 61,298 60,294 1,004
101 @14 Hl 61,298 60,294 1,004
04 JIZHHZ2XNHESE S+ 61,298 60,294 1,004
OZA=2A(EELER) 55,292
OJdles 75,9503 * 4% « 262 « 73& 55,292
O4l) AISIBE(HELR) 6,006
O=gg=z 55,292,000& * 4.5% 2,489
O=0AdLEE 55,292,000& * 3.335% 1,844
OEINQYSH 1,844 ,000& * 10.25% 190
OnE:d 55,292,000& * 1.65% 913
OuATMa 2 55,292,000& * 1.03% 570
=Xl2el At 2,207,492 1,614,451 593,041
201 B2l 52,084 51,856 228
01 At 22l 50,008 49,780 228
O=XAE W SsX8A =2 M
11,0003 * 24000 = 95% 2,508
OFHIYRZ (&==X1t) 50,000,000& = 95% 47,500
02 =24l 2,076 2,076 0
O=sXAZ2clEH SFUH 1,377& * 200L 276
OsXAL2e&HH |FXEHl
150,000& * 128 1,800
206 T 2 bl 7,882 10,072 A2,190
01 = Hl 7,882 10,072 A2,190
O=XA4Y 22183 ¢ 7,882
oZelss 7Y 5,000& = 5& = 10004 2,500
OOt =+ 4,0002 * 1880H * 48 3,008
O=gtl = 10,000& * 200 2,000
O AN=sX2ed MYIISF
8903 » 2% = 3004 ~ 73 374
305 HHal=2s 4,000 4,000 0
01 Hia=s 4,000 4,000 0
O=XAI&EU O e 100,000& * 403l 4,000
307 glz2+ol & 139,673 64,322 75,351
05 RIZt2E = 139,673 64,322 75,351
OsXTAE FL22ES
3,990,630 » 5H 7€ 139,673
401 A& HI L 2T 1,948,853 1,459,201 489,652
01 A& HI 1,941,862 1,453,966 487,896
O=X 22/ (4g-82 ,2FX7) 61,649
OJIH M= 4003 = 80,406m = 13| 32,163
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Ol = 1,400 % 9,594m" = 13| 13,432
OoOa=x3H 2,300 * 6,980m * 13| 16,054
O=X 22AG (AY-AgrSd XHDEY) 45,715
OJIAH M = 400 * 12,000m x 13| 4,800
Ool&E | = 1,400 = 29,225m" % 13| 40,915
O 22IM(MR-28 AL IHAIXF) 54,898
OJIAH M = 400 * 60,245m x 13| 24,098
[@XIE=DN(ES 1,400 = 10,500m" = 13| 14,700
Oax=xH 2,300& * 7,000m % 13| 16,100
O=sXl 22AS (M-85, =2 ,JI0XF) 34,796
OJI A M = 400 * 38,280m x 13| 15,312
Ol = 1,400 = 5,742m" % 13| 8,039
Oa=x3H 2,300 * 4,976m % 13| 11,445
O=X Z2IAMG(EL-I1E , ZAHXF) 74,897
OJI A M = 4003 * 103,542m" * 13| 41,417
Ol = 1,400 = 12,575m % 13| 17,605
Oa=d3 2,300& * 6,902m * 13| 15,875
OsK ZZIAIZE(EE-ol=2WH, 24K F) 56,410
OJIAHH = 400 = 72,555m * 13| 29,022
(@)= ES 1,400& = 7,402m x 13| 10,363
(@FCR=PSPN 2,300& * 7,402m * 13| 17,025
O=sX Z2AIE(EE-HIIAEZelA AHCXX
2) 38,422
OJIAH M = 400 * 59,088m x 13| 23,996
Ol = 1,400 = 10,304m" % 13| 14,426
O 22AE(EE-Bls 22X &0
2l AFe) 10,711
OJIAH M = 4003 * 9,649m * 13| 3,860
O H A 550& * 9,649m * 13| 5,307
O&CI Al Y 1603 * 9,649m" % 13| 1,544
O=X Z2IAMS(HIA-822X 1) 68,548
OIIAHH = 4003 * 88,142m x 13| 35,257
ool = 1,400& = 10,275m % 13| 14,385
(@R RPN 2,300& * 8,220m * 13| 18,906
O=sX Z2IAIE (HIA-822XF72) 32,340
OJI A M = 400 * 19,052m x 13| 7,621
Ol = 1,400& = 7,009m x 13| 9,939
O=dH 2,300& * 6,426m * 13| 14,780
OZ A= HHIAIY 25,099
OJI A M = 400 = 10,210m x 13| 4,084
Ol H = 1,400& * 6,645m x 13| 9,303
Oa=sxH 2,300& * 5,002m x 13| 11,712
OlUlsK ZSIAFS (M) 40,489
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OJIHM = 4002 * 3,080m * 13 1,232
O & = 1,400& = 10,610m * 13| 14,854
on=sdd 2,300& = 10,610m * 13| 24,403

Ol =X Z2elAtE (M) 31,559
OJIH M= 4003 = 22,086m * 13| 8,835
O &M= 1,400 = 11,138m" * 13 15,594
on=dg 2,300& = 3,100m « 13| 7,130

OMl=Xx ZelMd(EG-I1E  2MHXF) 48,541
OJIH M= 4003 * 16,438m" = 13| 6,576
OaE M= 1,400& = 11,673m = 13| 16,343
os=dE 2,300& = 11,140m * 13| 25,622

OlUl=sX ZelAg(EE-s4 HALEelA &

X K2) 48,831
OJIH M= 400 * 5,727m * 13| 2,291
O & M= 1,400& = 20,106m * 13| 28,149
on=dE 2,300 = 7,996m 13| 18,391

Ol =Xl ZelAS(HA) 41,067
OJIAH M= 400 * 459m * 13 184
O &M= 1,400& = 11,081m = 13| 15,514
on=dE 2,300& = 11,030m * 13| 25,369

Oll=X ZAAY 310,000
Oll=X 2AAE 124,000& * 2,500m 310,000

O=z%, usd, L=l ZelAmg(ag) 63,058
OJIH M= 4003 * 47,925m" = 13| 19,170
O &= 1,400 = 15,298m" * 13| 21,418
os=dE 2,300& = 8,813m" « 13| 20,270
O =AM 550& * 4,000m x 13 2,200

Oz, ussd, L2l Z2elM (L) 40,947
OJIH M= 4003 = 42,507m" = 13| 17,003
O &M= 1,400& = 8,351m * 13] 11,692
os=dE 2,300 = 4,347m = 13| 9,999
OAdHMAE 550% * 4,096m x 13 2,253

O3 NSy ZLI2U 22 (EE-ItE,

S AR F) 42,212
OJIH M= 4003 = 39,408m = 13| 15,764
O & = 1,400& = 5,485m" * 13| 7,679
os=dE 2,300& = 3,304m = 13| 7,600
O =dHH 550@ = 20,306m = 13| 11,169

O nNsSHd =222l 22l (EE-2AM
=) 31,787
OIIHHM = 4003 * 49,850m" = 13| 19,940
O &M= 1,400& = 8,265m * 13| 11,571
(OFEE=FSES| 2,300& = 120m = 13 276




N ZEZAMAIEEZR S22
By zdwe
& =X2el fEH)
S B G(SA) - NRANY - BES il 2
OZR ey 5222l 22 (EL-5F,
JIH&2XR) 46,094
OJIHM = 400 * 12,589m x 13 5,036
O &= 1,400 = 29,327m * 13| 41,058
OZR neEd s2d=2cll 22/ (HA-50I,
QEXTR) 48,553
OJIHM = 400 * 37,445m x 13] 14,978
O &= 1,400 = 9,744m * 13| 13,642
on=dg 2,300 = 3,053m" * 13 7,022
O&=4dH 550& * 23,473m" = 13| 12,911
OZd NESH , =L 22D (HI-82
=) 34,232
OJIH M= 400 = 76,355m x 13| 30,542
OlaE M= 1,400& = 935m » 13 1,309
os=dE 2,300& = 1,035m = 13| 2,381
O=HzelAg (a4, 2J) 45,822
O1im W2 3,250& * 4,003m = 13| 13,010
O2m el 13,000& * 2,524m * 13| 32,812
SHIAIME (MR, EY) 51,185
O1im W2 3,250& = 10,049m « 13l 32,660
O2m W 13,000& * 1,425m * 13| 18,525
O=X W A28 SXNE= 95,000,000& 95,000
O=X W ==3tl 100,000, 000& 100,000
Otlots 25=X &8s €I3A
2,500,000& = 690 A 15,000
OSSP RAAME SASA
200,000& = 100m’ 20,000
O=Xth AIE=E EXI3A 30,000,000& 30,000
O4tgdd L Z AATD IS A
250,000& * 5542t 138,500
O H ALR ZelAtY 115,500
oautt2zel(dais2H, 838 8)
210,000& * 550= 115,500
03 Al =2 THHI 6,991 5,235 1,756
O=sXAE2e AIE20
1,941,862,000& * 0.36% 6,991
405 TtHabF S| 55,000 25,000 30,000
01 AL ESH SHI 55,000 25,000 30,000
OSIEXH(2.58) 55,000,000& * 1CH 55,000
agagaz 2el 45,821 45,822 A
201 Let249] 516 1,409 A 893
02 =24l 516 1,409 A 893
oagsgdz MRS 43,0003 = 128 516
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401 Al HIZ 201 Y| 45,305 44,413 892
01 A& HI 44,820 43,938 882
oagagNd SRl 30,000, 000& 30,000
odgagad =27 14,820
OJIH M= 400 * 2,975m * 13 1,190
O &= 1,400& = 6,857m * 13 9,600
on=dg 2,300 = 1,752m" * 13 4,030
03 Al SR THHI 485 475 10
oOagatgaz 2el 44,820,000& = 1.08% 485
Al2104 Ot 508,995 742,814 A 233,819
= 46,800
= 92,038
Al 370,157
HAa= ICIUOH 42,248 41,664 584
= 21,125
< 6,336
Al 14,787
101 @14l 42,248 41,664 584
= 21,125
< 6,336
Al 14,787
04 D12t 22 HEE = 42,248 41,664 584
Ya= ICUOH 42,248
OoJlgs 21,124,000& * 2% 42,248
= 21,125
< 6,336
Al 14,787
SHME Z=20d 22 231,546 247,039 A 15,493
101 14l 219,786 212,729 7,057
04 D12t 22 s 219,786 212,729 7,057
O=d&l 2 198,259
OJles 7603 + 148 « 262 « 7E 177,749
Oxg=¢
69,7602 * 150% * 14%H * 2 * 7& 20,510
C4liE" JI2RES 21,527
O=8d3z3 198,259,000 * 4.5% 8,922
O=HLEE 198,259,000& * 3.335% 6,612
OFIRAEHE 6,612,000& * 10.25% 678
ons=sdg 198,259,000& * 1.65% 3,272
Ot ol 28 198,259,000& * 1.03% 2,043
206 M= Hl 11,760 11,760 0
01 2l 11,760 11,760 0
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S A0t (&)
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OME T2 s M2 7<
240,000 * 70 + 78 11,760
S3018 22 & 2l 14,807 13,791 1,016
201 £B-2dH| 14,807 13,791 1,016
01 At 22l 14,807 13,791 1,016
OS3J0EXIJ| ZAFIH H =
100,000& = 6I1 = 95% 570
OZ&A0EXNI E3 1,544
O #3AL8Z 13,0003 * 250 « 58 * 95% 1,544
OMEHXE S AIRES ¥
50,0003 * 7oHA « 78 * 95% 2,328
O3JEZ20Y =222 ¥ WM MH 10,365
OXAH 660,000& * 1& * 95% 627
Ogs+=o 70,0003 * 7H2A * 5& * 95% 2,328
oZzd X 1,500,000% * 4ZF * 95% 5,700
QoL 2lE&& 6002 * 1,0000H * 35 * 95% 1,710
¥ Usityg 29 15,320 15,320 0
201 Let24d] 15,000 15,000 0
03 &AL S HI 15,000 15,000 0
OZ2-dU=s0tY A 7,500,000 =+ 23l 15,000
301 LBEAS 320 320 0
09 BAHALHIXI® 2 320 320 0
OB LI=0tY BA B4 Sl
8,000& = 20¥ = 23] 320
S8 HAEE 20,000 20,000 0
201 ¢er24l 20,000 20,000 0
03 A2 Z Hl 20,000 20,000 0
OR&E SHAANOEY S8 HAEE
20,000,000& 20,000
20l s AE2I 51,350 0 51,350
2 25,675
< 7,702
Al 17,973
307 gl2tol & 51,350 0 51,350
= 25,675
< 7,702
Al 17,973
05 BIZHRI & 3 51,350 0 51,350
OR0tz s 2P (&Y JEY =)
51,350,000 51,350
2 25,675
< 7,702
Al 17,973
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el

ZETANAMYER S22
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Al'B104 Ot

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
DX =sZHOIE2Y 0S8 M A (FHEAIY) 133,724 0 133,724
< 78,000
Al 55,724
201 Bt A | 4,428 0 4,428
01 AP 22l Yl 4,028 0 4,028
OJI0IEE Dl MEH AsH)| R (2L, C02)
50,000& = 1270 * 95% 570
OJI0tEY R MEN =2EIIE 2
182,000& = 205 * 95% 3,458
02 35244l 400 0 400
OJIDIEY XD MEH H2I] A2
40,0003 = 104 = 10& 400
307 QI2t0| M 120,000 0 120,000
T 78,000
Al 42,000
05 A2t &2 120,000 0 120,000
OSESEAAT AT AIE (2IHA)
120,000,000 120,000
< 78,000
Al 42,000
405 X+HoHF SHI 9,296 0 9,296
01 A&t =S F SHI 9,296 0 9,296
OJI0tEERD HEH 28 ¢ 9,296
O tg I (99m 0| 5t) 2,000,000& = 204 4,000
OgAsdHED 2,700,000& * 1JH 2,700
oxels ogH 1,000,000& = 24 2,000
O3l =Xt 307,000& = 1JH 307
O 2etg JIE 289,000& = 1JH 289
2o Al HF US| 941,164 757,880 183,284
HEZ &GMA 811,164 627,880 183,284
101 @121l 505,683 497,400 8,283
04 JI2ZtH 22 XNHEE =+ 505,683 497,400 8,283
OZIMA L ATHX AlZ 22| 18 456,156
oJ=3 75,9503 * 33Y * 262 x 7 456,156
O4HEE D222 49,527
O=01H=z 456,156,000& * 4.5% 20,528
OAHLEE 456,156,000& = 3.335% 15,213
O&IAEE 15,213,000& * 10.25% 1,560
onsss 456,156,000& * 1.65% 7,527
O EE 456,156,000& * 1.03% 4,699
201 LEt2 Y| 23,481 23,480 1
01 At 22l Yl 5,395 5,394 1
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O A& & Hls X bl 12,000
OZIE HHl SAZUHI(EHEH 45)
200,000& = 504 = 83l 8,000
OZIE M4 KA 4,000,000& 4,000
OXZE g4 HIIR=
106& * 2,300kwh * 128 2,926
Odot=ER= 3,000& = 60= ~ 12& 2,160
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OZZ et XTH— 77,000
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ORJIZHZ(22) 8,000& = 2,000% 16,000
OJIEFAHM 200,000& = 108 * 53l 10,000
401 Al HI K 201 I 205,000 30,000 175,000
01 A& HI 205,000 30,000 175,000
O 23 ZI2F A4 Hd At 205,000
Ok &% Wi 165,000, 000& 165,000
Ok=: A2Zg 2 WX 40,000,000& 40,000
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QItZ2 = Z2/AtY 2,110,100,000& * 0.27% 5,698
AT ALSH 65,360 65,360 0
401 Al HIL 201 65,360 65,360 0
01 A& bl 65,360 65,360 0
OLT A= (EHI L L=FH|)
380,000 = 86km * 23| 65,360
=53 22| 13,139 10,770 2,369
101 2124 1| 13,139 10,770 2,369
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75,9508 * 18 » 262 » 6&

11,849,000& * 4.5%
11,849,000& = 3.335%
396,000& * 10.25%
11,849,000& = 1.65%
11,849,000& = 1.03%

13,139
13,139
11,849
534
396

41

196
123

10,770

= mnHy

445,710
312,000
44,570
89,140

446,726

A 1,016

401 AIEHIZ 2 I

=

445,710
312,000
44,570
89,140

446,726

A 1,016

01 A& dI

oNHAT

217,186,000& = 2km

434,372,000& * 1.89%

434,372,000& * 0.72%

= M [ = [

= N

434,372
434,372

304,063
43,436
86,873

8,210
8,210
5,747

821
1,642
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,190
313
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N W w
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A 990

A 19
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58,500

46,800
11,700

282,750

N 224,250

401 AIEBIZ 2 CHYI

Al

58,500

46,800
11,700

282,750

N 224,250

01 A& HI
OTFZINZ(0.7km)

45,000,000&

4,500,000 = 3km

H

Al

H

Al

58,500

45,000

36,000
9,000

13,500

10,800
2,700

275,345

A 216,845

41,500
33,200

41,000

500
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8,300
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37,900

30,320
7,580

35,000

2,900

37,377,000

523,000&

H

Al

Al

37,900
37,900

37,377
29,902
7,475
523
418
105

35,000

2,900

H

Al

3,600

2,880
720

6,000

A2,400

600,000 = 43

300,000& = 4&

2l

Al

=

2,400
2,400

1,920
480

1,200
1,200

960
240

4,400

1,600

A2,000

A 400

= N H

65,510
50,723

4,436
10,351

10,848

54,662

401 AIEBIZ S CHYI

= Hn W

65,510
50,723

4,436
10,351

10,848

54,662

01 A€ HI

(CENEE PUFaE-—-

L HALS

65,510,000&

= N H

65,510

65,510
50,723

4,436
10,351

10,848
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Ab SE AN+
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(£ 8)

00& * 100H = 203

46,0003 = 2000H
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20,000
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FAM: ZEEZANAGER A2l
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el MEEY CER-ED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 18,411
101 1244 dl 22,584 20,016 2,568
< 4,173
Al 18,411
04 JIZHHZ2XREES 22,584 20,016 2,568
OAURTHASHEEA(1Y, 118, DEX) 22,584
ooz 22,273,000& 22,273
< 4,116
Al 18,157
O4UEE JIa2g3 311,000& 311
< 57
Al 254
L2USHEEYE OlSEHESEA 84,040 55,296 28,744
= 42,020
< 12,606
Al 29,414
101 @14l 84,040 55,296 28,744
= 42,020
< 12,606
Al 29,414
M4 D12 ZE2EXNEES 84,040 55,296 28,744
OAURMEEY OlSHEZ=LAI 24, 112
DEXH) 84,040
QI 24l 82,881,000 82,881
2 41,440
< 12,432
Al 29,009
O4UEE JIa2g3 1,159,000& 1,159
= 580
= 174
Al 405
MNEES 4,354,025 4,110,516 243,509
= 632,971
< 609,971
Al 3,111,083
MELRXNUHMERE 2 337,218 366,444 N 29,226
101 @124 dl 87,300 69,750 17,550
04 DIt Z2XEES 87,300 69,750 17,550
O/ ES ALK 20l (2HAlH])
3,000& » 194%H » 150 87,300
201 LBH2E | 243,918 197,248 46,670
01 At 22l 97,803 83,173 14,630
Ot=dstE £ ¥ ordE 2 64,838
Ostg 2te 350,000& * 299 = 95% 9,643
osd 350,000 = 130HSH » 4H » 95% 17,290




SN ZECAMNYES gD
Ha: A Me 23
et MERS CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ot 2 Al 350,000& = 1144 * 95% 37,905
OMENY SRSHT(BYSIS, HEXAANY
g) 50,000& = 55001 = 95% 26,125
OU =X HWH=R 48y 220 S|
8,000& = 6H » 1502 * 95% 6,840
02 2324l 146,115 114,075 32,040
Od=E22Z A2 ®FHl 5000& » 114F » 150 85,500
OMELANZEL S SNl
200,000& * 13= 2,600
OL=Z A0 2t | X 24l
1,000,000 * 1370 £ 13,000
OJEHFH (StHet, ZoH22A&EX S) &I
NEZ 70,000& = 123 840
ONMEUSHEH HIRS S
400,000& * 12 + 128 4,800
ONBTHHHEBEIY &II23 S
550,000& * 10HA + 128 6,600
ONEUYAAXDHAAY QEHY ABE
S 170,000& » 12& 2,040
OU=dINY e ==
1,275& = 300L » 20H » 68 4,590
OFGIS RIXIZHMAIAE I A2 E |
22l i 55,000& = 2004 » 123 13,200
OR&HI KA & 2l 10, 170,000& 10,170
oMt XN (ZEEII) K74
925& = 3,000L 2,775
206 M= Hl 5,000 5,000 0
01 M= 4l 5,000 5,000 0
Ot=dste+ 2 10,000& * 2& = 25004 5,000
302 OI=2L Mol 24 = 1,000 1,000 0
02 IAQITHOHH =R ESEL S 1,000 1,000 0
Od2xs HH=C 243 10,0008 * 100& 1,000
AEENEEH L ZAH(ZY) 5,446 800 4,646
308 A EHHSOIA 5,446 0 5,446
07 IXNHMAR S = 5,446 0 5,446
O«tEdsteld s & "ot 5,446,000 5,446
MEHZH YT 1,218,828 1,200,313 18,515
= 487,531
= 219,389
Al 511,908
101 @124 dl 1,177,516 1,159,001 18,515
= 471,006
< 211,953
Al 494,557
04 D12t Z2RESES 1,177,516 1,159,001 18,515
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1,067,328,000&

77,405,000

32,783,000&

=z M H = N W

= MW

1,144,733
1,067,328
426,931
192,119
448,278
77,405

30,962
13,933
32,510
32,783

13,113
5,901
13,769

= M W

41,312
16,525

7,436
17,351

ESXE(LXR)

800,000& » 70H * 6E

SAE(RFH!) 7,712,000

1A

= 0 W

= N H

33,600

33,600
13,440
6,048
14,112
7,712

7,712
3,085
1,388
3,239

33,600

7,712

= M

1,666,728

310,449
1,356,279

1,008,252

658,476

H

Al

1,666,728

310,449
1,356,279

1,008,252

658,476

HNZENHsE+

1,400,052, 000&

g JI2A2E=3 266,676,000&

H

Al

= M

1,666,728
1,666,728
1,400,052
260,777
1,139,275
266,676
49,672
217,004

1,008,252

658,476

= N W

65,712
26,285
11,828
27,599

47,312

18,400

H0

H

8,800
3,520

14,400

A5,600
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202 o4 Hl 5,600 0 5,600
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= N W
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5,600 0 5,600
20,000& = 280¢ 5,600
2,240

1,008
2,352

= M W

206 M= Hl 27,312 27,312 0
10,925
4,916
11,471

= MW

0

g
>

H=Hl 27,312 27,312 0
Ol &l 5t &l 27,312,000& 27,312

10,925
4,916
11,471

= W

405 TtatFH S 24,000 5,600 18,400
9,600
4,320
10,080

=z N H

01 A& ESFH SH 24,000 5,600 18,400
g 2487 800,000& ~* 30CH 24,000

9,600
4,320

10,080

= MW

AEUHLHA PE2E(ZY) 148,700 27,700 121,000
59,480
26,766
62,454

= W

201 fEt2E | 11,700 11,700 0
4,680
2,106
4,914

= N H

01 AFR2t2ltl 4,500 4,500 0
OMERERQ MEMAH(LXZ)
4,500,000& =+ 1CH 4,500

1,800
810
1,890

= M W
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
02 3322l 7,200 7,200 0
OMERE R AXMA(RFH)
7,200,000& = 1CH 7,200
= 2,880
< 1,296
Al 3,024
401 Al& I 28I 137,000 16,000 121,000
= 54,800
< 24,660
Al 57,540
01 A& HI 133,499 16,000 117,499
O&ERALAIINHY FXNE S
2,000,000& * 8IH £ 16,000
= 6,400
< 2,880
Al 6,720
O4tEetd B2t H 117,498,540& » 100 117,499
= 47,000
< 21,149
Al 49,350
02 Zeltl 2,656 0 2,656
OdEotdZ2E Y Zaldl
117,498,540 * 2.26% 2,656
= 1,062
= 479
Al 1,115
03 Al 20 HI 845 0 845
OdEHEMZTAIYE AL
117,498,540 * 0.719% 845
= 338
< 152
Al 355
AELNSHA RE2LE(X2) 62,050 421,050 A359,000
= 24,820
< 11,169
Al 26,061
201 Let24d] 11,050 11,050 0
= 4,420
< 1,989
Al 4,641
02 323l 11,050 11,050 0
OMEZANAXZMAIAE S Z
11,050, 000& 11,050
= 4,420
< 1,989
Al 4,641
405 THobH S| 51,000 10,000 41,000
= 20,400
= 9,180
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 21,420
01 XAt 2 E F S| 51,000 10,000 41,000
O &= & SHRE 48,000,000& * 1CH 48,000
= 19,200
o= 8,640
Al 20,160
ORHSAZEH (XHEFZ) 3,000,000& = 1CH 3,000
= 1,200
& 540
Al 1,260
A XHE D] 176,400 113,400 63,000
308 XX G SOl A 176,400 113,400 63,000
07 AXSHH2HESSZ2 176,400 113,400 63,000
OXNXEHH2LEEZ 176,400,000 176,400
Ba422 74,994 74,994 0
401 A& HIZ 2 0HY| 74,994 74,994 0
01 Al&H| 74,325 74,325 0
BS54 QL= 2,973,0008 * 2504 & 74,325
03 Al 201 Y| 669 669 0
oOBsS4 A= 74,325,000 * 0.9% 669
BS4+8HIAMY 44,000 40,000 4,000
= 12,185
Al 31,815
401 AlEHIZL 2 0HY| 44,000 40,000 4,000
= 12,185
Al 31,815
01 Al&H| 43,529 39,568 3,961
OBS4+AHAMY 3,957,100 = 112 43,529
o 12,053
Al 31,476
03 Al&E 201 Y| 471 432 39
OBES 48U MY 43,529,000 = 1.08% 471
& 132
Al 339
A TH o0 O & 128,050 451,716 A 323,666
201 Bt 6,970 4,703 2,267
01 AP 22| H| 6,970 4,703 2,267
OZHI L2 (Z0IE AAEH E)
660,000& = 108 * 95% 6,270
OMAEIFITIS XIE sol9id +g
100,000& * 79 = 13| 700
401 AlEHIZL 201 Y| 121,080 447,013 N 325,933
01 Al&H| 120,000 436,852 N 316,852
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OMofiIg= MH 120,000
outd ¥ 378X 400,000& = 300= 120,000

03 Al 2 THHI 1,080 3,123 N2,043
OMoHA&E = 120,000,000& * 0.90% 1,080

AHALER &1 & ol 2 e 54,387 53,653 734
21,755

9,790
22,842

= N H

101 14l 47,437 46,730 707
18,975

8,538
19,924

= N W

04 DIt 22 XS+ 47,437 46,730 707
O/AFER S Z oS ol HH (42,78 , DS X) 47,437

Ol 37,587,000& 37,587
15,035
6,765
15,787
O4lE2E JI2ARE= 9,850,000& 9,850
3,940
1,773
4,137

= MW

= W

201 L Er2 A | 6,300 6,300 0
2,520
1,135
2,645

= N H

01 At22t2l bl 4,500 4,500 0
OMAEI S HoI &Y g Sx=
750,000& ~ 63 = 104 4,500

1,800
811
1,889

a]] 1,800 1,800 0

= M W

00,000& = 68 ~ 104 1,800
720
324
756

= W

206 M= Hl 650 623 27
260
117
273

= N H

01 = dl 650 623 27

O === Xt 650,000 650
260
117
273

=z M H
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
APAREH FHUX A CHLHE A X 16,000 16,000 0
< 4,465
Al 11,535
401 Al HI K 201 I 16,000 16,000 0
< 4,465
Al 11,535
01 A& Bl 16,000 16,000 0
OAHALEH 5 2F XIS CHLFEF & X
800,000& 200 & 16,000
< 4,465
Al 11,535
A AR 204,796 86,266 118,530
308 MtXIEHMSOIH 204,796 86,266 118,530
07 IXNHMAR S = 204,796 86,266 118,530
QHFEH At 34,876,000& 34,876
OtgE s 22 101,790, 000& 101,790
OAMEE At 67,500,000 67,500
oAt e 2tel 630,000& 630
SEXE 22 124,516 175,516 251,000
201 L2l 124,516 124,516 0
02 2324l 124,516 124,516 0
o0z22= & HA 19,739
oMy 2 Ee2E 14,410
-S&X 975,000& = 204 1,950
-SE X 760,000& = 1CH 760
-st2 Xt 650,000 * 18CH 11,700
OZMNERES 1,836
-bU=d 58 110,000& * 1CH 110
-Sgxt 160,000& * 1CH 160
-st2 Xt 87,0002 « 18CH 1,566
OXtS XHAl 2,364
-5 &Xt 210,000& =« 2CH 420
-SExt 180,000& * 104 180
-st= Xt 98,000& « 18CH 1,764
OHESS M2 1,129
-S&Xt 56,0002 * 2CH 112
-SE 63,000& * 1CH 63
-st= Xt 53,000& =« 18CH 954
O Xt& & B 90,300
Os8x 4,900,000& =« 1CH 4,900
OsExt 6,500,000& « 1CH 6,500
Ost=xt 4,300,000& = 18CH 77,400




FN: ZTEZAMAMYER L2
Hu: QAW Bt
ool MERE (B9 ®R)
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
OHEII Xt 1,500,000 * 1CH 1,500
OMIXE HHMRBES 300,000& = 12& 3,600
OZMEH ¥ 29 ®F4Hl 1,377& * 1,0004 1,377
OFHI(ZI)EE =S & 8| 9,500
Oox3ee 282 500,000& * 1CH 500
OXE 3l #=2lbl 6,000,000& = 1CH 6,000
OX3d e sFHl 3,000,000& « 1CH 3,000
MEIEX SEEFZA 26,200 0 26,200
= 13,100
S 3,930
Al 9,170
201 Ler24E] 25,600 0 25,600
= 12,800
< 3,840
Al 8,960
01 At 2t 2l 25,600 0 25,600
O X AS I 12,000,000& 12,000
= 6,000
< 1,800
Al 4,200
O == At &l 4,000,000& 4,000
= 2,000
< 600
Al 1,400
OLFAIEIZ 2 = 9,600,000 9,600
= 4,800
= 1,440
Al 3,360
35 &= S 600 0 600
= 300
< 90
Al 210
01 =8 600 0 600
Ot AL = A & 100l =
25,000& » 24Y 600
=2 300
< 90
Al 210
Al ztel 42,880 20,000 22,880
= 22,880
Al 20,000
MXFAEZE FH 20,000 20,000 0
207 A RO 20,000 20,000 0
02 & &HH 2 20,000 20,000 0
O&X7=2< pBEH A 22|
20,000,000& 20,000




ZECAANYESR AYBD
AR A WA A3
ax el

A - ER(EN) - AR - B of & o4 SSa HIDZ2
MTEHE AIZ22 BF 22,880 22,880
= 22,880
201 fEt2E | 22,880 22,880
= 22,880
01 At 22l bl 18,055 18,055
OUNTEN BY XY YXE
700,000& » 118 » 204 15,400
= 15,400
© T=yl 2,655
O == 90,0008 * 9% 810
= 810
O get= 100,000& * 9H 900
- 900
O &tdE 3t 60,0003 * 9H 540
= 540
O &g, 29 A=, 2%
45,0008 » 99 405
= 405
02 s3=9Hl 4,825 4,825
OXtgMEH (LUAE RFRU)
1,2753 = 113 * 3444 4,825
= 4,825
SE s 1,875,578 824,402
2 72,293
= 350,000
= 328,189
Al 1,125,096
st =48 2 22l 816,242 122,531
101 1244l 113,667 1,774
04 D12 H22 TS 113,667 1,774
oSNz ME(SHS) 46,792
Okikal:]
75,950 * 30 » 1004 SHS * 23 45,570
ONIE=3--4=-F= 45,570,000& * 1.65% 752
OttHESE = 45,570,000& * 1.03% 470
Oo=Zzele(ng 66,875
OJI2ZtHZ 2 &
L9503 * 3 x 262 » 10& 59,241
OdZEE= 59,241,000& = 3.335% 1,976
OIINLRALE R 1,976,000& = 10.25% 203
Oo=dA= 59,241,000& * 4.5% 2,666
O1nEEE 59,241,000& * 1.65% 978
OMHES 59,241,000& * 1.03% 611
OEZEF It 200,000& 3 = 23 1,200




N ZEZAMAIEEZR S22
HE: QAR 23
el MEEY (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 24,275 24,035 240
01 At 22l 12,631 12,631 0
Osdz Hz E2=2(8a29 2 18)
50,000& = 10008 = 95% 4,750
OSHZ GHUUEXE S
150,000& * 50004 = 95% 7,125
O=Zzelel Il=hl 756
o= 90,0003 = 3H = 95% 257
ogst= 100,000& = 3H = 95% 285
O¢otH st 60,0003 = 3H = 95% 171
O&s,* HHEXN, 22X
15,0003 = 3H » 95% 43
02 =24l 11,644 11,404 240
ONM=8 RI|U(SHS)
1,377& = 2L » 3004 » 10HS = * 23 1,653
O=Z el FF4 1,377& = 5L » 260 1,791
OsS&ZUXEO0IAE EIIA
80,000& = 62 = 128 5,760
OUsts = Ad SEHI HA
500,000& * 23 1,000
OWMstat =ZAIE MIIAH & =X
120,000& » 1A « 128 1,440
206 M= Hl 42,500 42,500 0
01 = Hl 42,500 42,500 0
Ost2 FHE XM 42,500
O=AY & 63 25,0002 = 300K 7,500
OAMIHE 35,000& * 1,000m 35,000
305 a2 S 2,000 2,000 0
01 thHaf=8 2,000 2,000 0
Os&Z etEALD TIoHE 4 500,0008 * 4A 2,000
307 21201 A 61,200 54,000 7,200
05 BIZHRI & 3 61,200 54,000 7,200
OXNHLSTHA 22 61,200
OgesstEs FAEYH
450,000 * 602 * 128 32,400
OgesstEa 82H 2l
400,000 * 602 * 128 28,800
401 A& HIZ 201 I 572,600 459,283 113,317
01 A& HI 570,440 447,329 123,111
os&tz X2 40,000,000& * 5.0km 200,000
OSHZ HEAE RAE>
1,000,000 = 500H & 50,000
Os&=Z2 FHIAMY 300,000




N ZEZAMAIEEZR S22
HE: QAR 23
ool MYEY CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Othas =4tz FH
100,000,000& * 1JH £ 100,000
O 5 2L S&ME FHUIAY
100,000,000& * 2JH £ 200,000
OS&Z HEIALY & AIE A bI
200,000,000& * 5.11% 10,220
OS&Z |2l AAIZAH
200,000,000& * 5.11% 10,220
03 Al 2 THHI 2,160 3,096 A 936
OS&Z HEIALY Al 208l
300,000,000& * 0.72% 2,160
AEMEHOHS E I 5,000 5,000 0
401 A& IR 201 I 5,000 5,000 0
01 A& HI 5,000 5,000 0
OLEMENCIE A= 22| 5,000,000& 5,000
MENMEIA SEALY 21,124 20,832 292
= 10,562
< 3,169
Al 7,393
101 124 dl 21,124 20,832 292
= 10,562
= 3,169
Al 7,393
04 D12t Z2XEES 21,124 20,832 292
O=Mei2ele(1g, 118, 0&X) 21,124
ool 19,124,000 19,124
= 9,562
= 2,869
Al 6,693
Q428 J12243 2,000,000& 2,000
= 1,000
< 300
Al 700
MEFASNUSH 21,112 20,888 224
= 10,556
< 3,167
Al 7,389
301 LEEAF 21,112 20,888 224
= 10,556
< 3,167
Al 7,389
12JIE243 21,112 20,888 224
OKE=EMEIDIS2YUUN =2 (1Y, 12¢)
21,112,000 21,112
= 10,556
< 3,167
Al 7,389
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St sdEy 2488 &4 700,000 0 700,000
s 350,000
< 175,000
Al 175,000
401 Al HI R 201 I 700,000 0 700,000
s 350,000
< 175,000
Al 175,000
01 A& 8l 684,930 0 684,930
OssMHdz2E 2dEH =d AAE
658,142,158& * 4.07% 26,787
s 13,393
S 6,697
Al 6,697
o=z 2ddEH =4
658,142,158 658,143
s 329,071
< 164,536
Al 164,536
02 Zeltl 10,926 0 10,926
O=ssHs2dE 2dEH =4
658,142,158& * 1.66% 10,926
as 5,463
< 2,730
Al 2,733
03 Al 2 THHI 4,144 0 4,144
Oo=stids2ddy 248 x4
658,142,158& * 0.6295% 4,144
as 2,073
< 1,037
Al 1,034
St syE MEfws HA ME 4,750 0 4,750
201 ¢4l 4,750 0 4,750
01 At 2t 2l 4,750 0 4,750
Ot NEHL M S
50,000& = 100& = 95% 4,750
HYL2IAZH (FESAAGE 2R A 2el ) 414,705 402,707 11,998
Jl=& | 80,975 91,342 A 10,367
Jl2zl 80,975 91,342 A~ 10,367
201 et 34,175 34,992 AB17
01 At 2teltl 34,175 34,992 AB17
OJlzge=+d #sZH(01E=24l)
500,000& » 299 = 90% 13,050
ozgd(JIE34l)
8,000& » 29 = 8% + 12& » 90% 20,045
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01 = LHA YI 41,760 51,310 A 9,550
O=UWoitl(21F=ZHl)
20,0003 = 299 = 6 » 123 41,760
203 PR =&l 5,040 5,040 0
04 EANSIHR2F=EHI 5,040 5,040 0
QI&E XA 5,040
0302 Olat 400,000& = 123 4,800
0302 =t 5,000& * 49¥ « 128 240
el 2 gl 333,730 311,365 22,365
ol 24| 333,730 311,365 22,365
101 @14 dl 333,730 311,365 22,365
03 RIAHAZ 2T E + 333,730 308,356 25,374
Oatz el eyl 333,730
od=E(It=2) 170,193
295 8 3,652,920& » 1H 128 43,836
-10&= 2,646,380 = 39H 1238 95,270
95 = 2,590,550& « 1H 128 31,087
o= 81,595
25 8,511
295 S 182,640& » 1Y 128 2,192
1053 132,310& = 3H 128 4,764
95 = 129,520 = 1H 124 1,555
-tE=g 5,160
- S X 40,000 * 49 128 1,920
- &S 30,000& = 9H 128 3,240
-BtE g 100,000& = 1H 128 1,200
-HE2E2SY
19,8583 = 5% * 20Al2t = 128 23,830
-F22fg
19,8582 » 2 » 9AI2H x 10 128 42,894
OG &5 0tdl 14,184
- 2983 1,826,460 * 23| 3,653
- 10&8= 1,323,190 * 63l 7,940
-9 1,295,270& = 23| 2,591
Oul SH| 150,000& * 5% » 12& 9,000
O= &l 150,000& = 53 = 123 9,000
OJHAX & HI 175,000& = 5% » 12& 10,500
o1l =t 90,000& = 5H 450
OetHE 3t 60,0002 = 5H 300
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O4UEE = 1,520,490& » 12& 18,246
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O=&t| 8,000& = 2%  10g¢ ~ 123 1,920




